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Answer1l

Here are the first five terms of an arithmetic sequence.

4 14 19
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Yy XS <& «{ €S «&
(a) Find, in terms of n, an expression for the nth term of this sequence.
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Answer 2

Here are the first 5 terms of a quadratic sequence.

1 3

7 13 21
Find an expression, in terms of n, for the nth term of this quadratic sequence.
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Answer 3

(b) The 3rd term of this sequence is 21 and the 6th term is 96.

Find the value of a and the value of b.
You must show all your working.

n=6: G Towun= Gx6 +lbxb
= 260 € 0b

Linveat Siuvcraneovs CQUATIONS
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Answer 4

The nth term of a number sequence is n? + 1

Write down the first three terms of the sequence.

= | [ <« :Z
W= C - 2?_'%’ 1§
A
n=7% - T < = LA
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Answer 5

Here are the first five terms of a different sequence.

2 2 0 4 -10
An expression for the nth term of this s¢quence(is 3n — p? @
(b) Write down, in terms of n, an exprepsion far the nth term of a|sequence whose first
five terms are &
- - 0 -8 —20

VLMT@/&M - @"\"/ﬂ <

&= 2(3:&’1/\13

Answer 6

The nth term of a sequence is an’® + bn.

(a) Write down an expression, in terms of @ and b, for the 3rd term.

n=2: 2PTenm:z oxl < Lr3
= q.a\ ’FZL)
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Answer 7

The nth term of a sequence is given by an? + bn where a and b are integers. —

C WHote
Nowmgears "
The 2nd term of the sequence is —2
The 4th term of the sequence is 12 Finrean i MULTAN Eoul EQUATIONS
(a) Find the 6th term of the sequence.

Use ErummiTion WME THoD
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= 2
L =-S
e
Answer 8
Find the nth term of each sequence.
(a) 4, 8 12, 16, 20, ...
@ g I =
J;J e £ & €4
Linvean \_/L
N Toun = L <
A= : b = Xl £C
e - &
T 7 -
- So A Tonua = Gen
£ = &
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Answer 9

Find the nth term of each sequence.
@ 7, 13, 19, 25, 31, ...
U U U U Find the differences between the terms
+6 +6 +6 +6
Common Difference = 6
So: nhTerm=6n+c¢
Use 1sttermtofindec: 7=6X1+c

c=1

So: nthTerm=6n+1

Answer 10

Here are the first five terms of a sequence.
4 11 22 37 56

Find an expression, in terms of n, for the nth term of this sequence.

QUAO:UJ[(_ QEQUENCGE
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Answer N

Here are the first five terms of a different quadratic sequence.

0 2 6 12 20
(b) Find an expression, in terms of #, for the nth term of this sequence.
O e I i 70 ’Eumorum(_ CeQuanees
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Answer 12
(b) 11, 20, 35 56, 83,
¥ 7 ”EUA'OMTIC §€QUQ\JL€£
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Answer 13

by 9, 16, 25, 36, 49,
\ VAU AU AW 4

+F 8 11 +13 Find the differences between the terms
\ AW AW 4
+2 +2 +2 ...and the second differences

The second differences are constant so it is a Quadratic sequence.
Looking at the sequence again notice that the numbers are all square numbers:
4 il 2 3 <+ 5

nth Term: 32 42 52 62 i

And there is a clear relationship (3 is 2 more than 1, 4 is 2 more than 2 etc.:

nt" Term = (n + 2)2
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